

5.1.2 Total number of students benefited by scholarships, free ships, etc provided by the department / non- government bodies, industries, individuals, philanthropists during the AY 2021-22

List of students benefited by Scholarship

Index

Sr.No	Content	Page No
1	Declaration by Principal	2
2	List of students	3

Declaration by Principal



TO WHOM SO IT MAY CONCERN

I, Dr. (Mrs.) Jayalekshmi M Nair, Principal (HOI), Vivekanand Education Society's Institute of Technology, do hereby state that the documents uploaded on NAAC portal are duly signed by Principal (HOI).

The additional documents uploaded on Institute's website (<u>https://vesit.ves.ac.in/</u>) are also authentic and does not need any extra validation.

Dayalikst

Dr. (Mrs) Jayalekshmi M Nair Principal Vivekanand Education Society's Institute of Technology Hashu Advani Memorial Complex, Collector's Colony Chembur, Mumbai, Maharashtra 400074



Hashu Advani Memorial Complex, Collector's Colony, Chembur, Mumbai - 400 074. INDIA. Phone : +91 22 6153 2532 | Fax : +91 22 6153 2555 | Email : vesit@ves.ac.in / principal.vesit@ves.ac.in | Website : www.ves.ac.in/vesit

2

CS CamScanner

AY 2021-22

VES Institute of Technology Scholarship (Non Govt) 1-April-2021 to 31-March-2022 BE STUDENTS

SR NO	STUDENT NAME	CLASS / DEPT	TRUST NAME	AMOUNT Rs.
1	AHIR DHRUV RAJUBHAI	CMPN	JAI CORPO LTD	15000
2	CHHABRIA MUSKAN DEEPAKLAL	CMPN	GOPAL MANKANI - 10000.00 GIRI LALWAN	15000
3	CHHABRIA MUSKAN DEEPAKLAL	CMPN	VES EDU. FUND	15000
4	SAKSHI GANGWANI	CMPN	SWAMI DEVPRAKASH JANAKALYAN TRUST	3000
5	KOMAL ASRANI	CMPN	SWAMI DEVPRAKASH JANAKALYAN TRUST	3000
6	ΝΙΚΙΤΑ ΑΗUJA	CMPN	SWAMI DEVPRAKASH JANAKALYAN TRUST	3000
7	SAKSHI GANGWANI	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
8	SAKSHI GANGWANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	15000
9	SAKSHI GANGWANI	CMPN	BHARTIYA SINDHU SABHA	15000
10		CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
		CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	20000
11				
12	NIKITA AHUJA	CMPN	BHARTIYA SINDHU SABHA	15000
13	KOMAL ASRANI	CMPN	SHRI VENKTESHWAR NIDHI TRUST	11000
14	KOMAL ASRANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	25000
15	KOMAL ASRANI	CMPN	BHARTIYA SINDHU SABHA	15000
16	ANKITA CHELANI	INFT	VES EDU. FUND	15000
17	AJAY NAIR	CMPN	ОНМ ЈҮОТІ	60000
18	MUSKAN H BAHRANI	CMPN	VES EDU. FUND	10000
19	KHUSHI BHATIA	CMPN	VES EDU. FUND	10000
20	KOMAL ASRANI	CMPN	SUNDER SHEWAK SABHA	15000
21	HITESH RAMRAKHYANI	CMPN	JEEV DAYA SOLUTION	30000
22	SANIYA SHAIKH	ETRX ETRX	KHIDMAT CHARITABLE TRUST	10000
23 24	SONAL S SHINDE SAHIL S JADHAV	ETRA	VES EDU. FUND	15000
25	ANIRUDDHA MESTRY	INST	VES EDU. FUND	15000
26	HARSHA CHELANI	CMPN	VES EDU. FUND	15000
27	HITESH D RAMRAKHYANI	CMPN	VES EDU. FUND	15000
28	MUSKAN H BAHRANI	CMPN	VES EDU. FUND	5000
29	PRATIK P PATKAR	ETRX	VES EDU. FUND	15000
30 31	DIPTI MENGHANI NIKITA NARWANI	CMPN CMPN	SUNDER SHEWAK SABHA	20000
32	CHHABRIA MUSKAN DEEPAKLAL	CMPN	VES EDU. FUND VES SCHOLARSHIP	10000
33	ANIRUDDHA MESTRY	INST	VES SCHOLARSHIP	15000
34	KHUSHBOO DALWANI	CMPN	SUNDER SHEWAK SABHA	25000
35	KHUSHBOO DALWANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	25000
36	CHHABRIA MUSKAN DEEPAKLAL	CMPN	VISHU LALA & PUNAM LALA	5000
37	SANIYA SHAIKH	ETRX	VES EDU. FUND	7500
38 39	MAHESH RAUT	EXTC	VES EDU. FUND BHARTIYA SINDHU SABHA	15000
40	NIKITA NARWANI ADITYA KHETWANI	CMPN CMPN	BHARTIYA SINDHU SABHA	15000
40	DIPTI MENGHANI	CMPN	VES EDU. FUND	10000
42	MOHITSINGH ADHIKARI	EXTC	VES EDU. FUND	15000
43	RAHUL MOTWANI	CMPN	VES EDU. FUND	10000
44	MERCHANT MAAROOF SAJID	EXTC	VES EDU. FUND	7500
45	DIPESH VARVE	ETRX	VES EDU. FUND	7500
46 47	RITIK WADHWANI CHHABRIA MUSKAN DEEPAKLAL	INFT CMPN	VES EDU. FUND VES EDU. FUND	10000
47	RITIK WADHWANI	INFT	SUNDER SHEWAK SABHA	5000 20414
49	RAHUL MOTWANI	CMPN	SUNDER SHEWAK SABHA	35000
50	RAJESH MUNI	ETRX	VES EDU. FUND	15000
51	MIHIR SUNANDA	INST	VES EDU. FUND	10000
52	KHUSHI BHATIA	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	20000
53 54	KHUSHI BHATIA	CMPN	BHARTIYA SINDHU SABHA	15000
55	MUSKAN H BAHRANI MUSKAN H BAHRANI	CMPN CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V BHARTIYA SINDHU SABHA	15000
56	AAKASH VANJANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	15000 20000
57	MANSI RANGWANI	INFT	SUNDER SHEWAK SABHA	30000
58	DIPTI RAJESH MENGHANI	CMPN		20000
59	KOMAL ASRANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V VES EDU, FUND VES EDU, FUND VES EDU, FUND VES EDU, FUND VES EDU, FUND VES EDU, FUND	7500
	NIKITA AHUJA	CMPN	VES EDU. FUND	10000
60 61 62	KHUSHBOO DALWANI CHHABRIA MUSKAN DEEPAKLAL	CMPN CMPN	VES EDU. FUND	7500 10170

INDIA

11/1 * Nº

VES Institute of Technology Scholarship (Non Govt) 1-April-2021 to 31-March-2022 BE STUDENTS

SR NO	STUDENT NAME	CLASS / DEPT	TRUST NAME	AMOUNT in Rs.
64	SHWETA B GODHAVE	INST	SETH MORARJI KANJI CH TR	3000
65	MERCHANT MAAROOF SAJID	EXTC	VES EDU. FUND	15000
66	ANMOL ROHRA	INFT	SUNDER SHEWAK SABHA	35000
67	RAHUL MOTWANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	
68	MANSI RANGWANI	INFT	SUNDER SHEWAK SABHA	15000
69	WADIBHASME SAMIKSHA GUNWANT	INFT	OHM JYOTI	115936
70	NARA SIMRAN CHANDER	INFT	SWAMI DEVPRAKASH JANAKALYAN TRUST	5000
71	NARA SIMRAN CHANDER	INFT	SUNDER SHEWAK SABHA	20000
72	SAHIL SAMBHAJI JADHAV	EXTC	A E KALSEKAR EDU WELFARE TRUST	5000
73	MOBBASHIR SAYYED	EXTC	A E KALSEKAR EDU WELFARE TRUST	15000
74	MANSI RANGWANI	INFT	SUNDER SHEWAK SABHA	15048
75	DEV TANWANI	INFT	SUNDER SHEWAK SABHA	20000
76	SAKSHI AMBRIKAR	ETRX	REGENCY FOUNDATION	12000
77	HITESH RAMRAKHYANI	CMPN	SAI VILAYATRAI SAI JIWATSINGH & SAI V	
78	HITESH RAMRAKHYANI	CMPN	BHARTIYA SINDHU SABHA	15000
79	OM TIKAM BHATIA	AIDS	BHARTIYA SINDHU SABHA	48000
80	RIDDHI K RANE	EXTC	SINKHAI FOUNDATION	10000
81	DEV TANWANI	INFT	SUNDER SHEWAK SABHA	15000
82	KARUNA HOTUMALANI	CMPN	SUNDER SHEWAK SABHA	15000
83	KASHISH JADHWANI	CMPN	SUNDER SHEWAK SABHA	15000
84	GUPTA NEEL SANTOSH	INFT	Student Aid Fund Scholarship	15000
85	SHAIKH MD SHERALI MD ZAFIRUL	INFT	Student Aid Fund Scholarship	15000
86	RODRICKS RYAN FREDERIC	INFT	Student Aid Fund Scholarship	15000
87	CHAUDHARI PUSHKARAJ CHARUDATT	INFT	Student Aid Fund Scholarship	15000
88	SHUKLA AMAN SURENDRA	ETRX	Student Aid Fund Scholarship	15000
89	TRIPATHI PRIYANSHU MANI	ETRX	Student Aid Fund Scholarship	15000
90	ARUNDUDHIYAR PRASHANTH SUBRAM		Student Aid Fund Scholarship	15000
91	SHAIKH SANIYA SHABBIRMIYA	ETRX	Student Aid Fund Scholarship	15000
92	ADHIKARI MOHIT SINGH HAYAT SING		Student Aid Fund Scholarship	15000
93	NAFEES AKHTER	EXTC	Student Aid Fund Scholarship	15000
94	JADHAV RAJ VITHOBA	EXTC	Student Aid Fund Scholarship	15000
95	RAUT MAHESH KALYAN	EXTC	Student Aid Fund Scholarship	15000
96	JADHAV SAHIL SAMBHAJI	EXTC	Student Aid Fund Scholarship	
97	UBARHANDE PRANAV JITENDRA	CMPN	Student Aid Fund Scholarship	15000
98	JOSHI VIRAJ SHRIPAD	CMPN	Student Aid Fund Scholarship	15000
99	PESHWANI MOHIT RAJESHKUMAR	CMPN	Student Aid Fund Scholarship	15000
100	CHHABRIA MUSKAN DEEPAKLAL	CMPN	Student Aid Fund Scholarship	15000
101	RAMRAKHYANI HITESH DEVANAND	CMPN	Student Aid Fund Scholarship	15000
	BAKHTAR HARSH	CMPN	Student Aid Fund Scholarship	15000
	KADAM PRACHAY PRAKASH	INST		15000
	SHELAR KRISHNA VITHOBA	INST	Student Aid Fund Scholarship	15000
	SHIVANGI ANAND	INST	Student Aid Fund Scholarship	15000
	WANKHEDE KARTIK VILAS		Student Aid Fund Scholarship	15000
107	SAWASHE BHAKTI BHANUDAS	INST	Student Aid Fund Scholarship	15000
102	MANE MAYUR SUKHADEV	INST	Student Aid Fund Scholarship	15000
	PATIL SHRUTI MAHENDRA	INST	Student Aid Fund Scholarship	15000
	GHARAT SHREYA SHASHIKANT	INST	Student Aid Fund Scholarship	15000
		INST	Student Aid Fund Scholarship	15000
	KADAMBALA SNEHA PRABHAKARRAO	AIDS	Student Aid Fund Scholarship	15000
	NAIDU MADHUSUDHANA	AIDS	Student Aid Fund Scholarship	15000
	SHAIKH MOHAMMED AAFTAB SAGIR	INFT	VIVEKANAND JYOTI SCHOLARSHIP	25000
	YADAV PRAVIN	ETRX	VIVEKANAND JYOTI SCHOLARSHIP	25000
115	RANE RIDDHI KISHOR	EXTC	VIVEKANAND JYOTI SCHOLARSHIP	25000
	YERAWAR OM SAKHARAM	CMPN	VIVEKANAND JYOTI SCHOLARSHIP	25000
117	WAGHMARE AJINKYA RAJENDRA	INST	VIVEKANAND JYOTI SCHOLARSHIP	25000
110	Ramrakhyani Hitesh Devamamd		VES SAMARTHAN	15000
120	Sahil Sambhaji Jadhav	EXTC	VES SAMARTHAN	15000
	Deepak Ramesh Dhumal		VES SAMARTHAN	20000
	Sneha Kadambala		VES SAMARTHAN	50000
	Sakshi Gangwani	CMPN	VES SAMARTHAN	15000
	Mahesh Raut	EXTC	VES SAMARTHAN	30000
	Anup Anil Chavan	EXTC	VICC CAMADERIAN	30000
125	Gayatri Jadhav	ETRX	VES SAMARTHAN	60414
		TOTAL		2159482



VES Institute of Technology Scholarship (Non Govt) - 1-April-2021 to 31-March-2022 BE STUDENTS

SR NO	TRUST NAME	NO. of Students	AMOUNT in Rs.
1	BHARTIYA SINDHU SABHA	8*15000	120000
2	BHARTIYA SINDHU SABHA	1	48000
3	GOPAL MANKANI - 10000.00 GIRI LALWANI - 5000.00	1	15000
4	JAI CORPO LTD	1	15000
5	JEEV DAYA SOLUTION	1	30000
6	KHIDMAT CHARITABLE TRUST	1	10000
7	ІТОҮС МНО	1	60000
8	ITOYL MHO	1	115936
9	REGENCY FOUNDATION	1	12000
10	SAI VILAYATRAI SAI JIWATSINGH & SAI VISHINDAS	3*15000	45000
11	SAI VILAYATRAI SAI JIWATSINGH & SAI VISHINDAS	5*20000	100000
12	SAI VILAYATRAI SAI JIWATSINGH & SAI VISHINDAS	2*25000	50000
13	SETH MORARJI KANJI CH TR	1	3000
14	SHRI VENKTESHWAR NIDHI TRUST	3*11000	
15			33000
10 20		1	10000
16	SUNDER SHEWAK SABHA	5*15000	75000
17	SUNDER SHEWAK SABHA	1	15048
18 19	SUNDER SHEWAK SABHA	3*20000	60000
20	SUNDER SHEWAK SABHA	1	25000 20414
21	SUNDER SHEWAK SABHA	2*35000	70000
22	SUNDER SHEWAK SABHA	1	30000
23	SWAMI DEVPRAKASH JANAKALYAN TRUST	3*3000	9000
24	SWAMI DEVPRAKASH JANAKALYAN TRUST	1	5000
25	VES EDU. FUND	2*5000	10000
26	VES EDU. FUND	5*7500	37500
27 28	VES EDU. FUND VES EDU. FUND	8*10000 1	80000
29	VES EDU. FUND	13*15000	10170 195000
30	VES SCHOLARSHIP	2*15000	30000
31	VISHU LALA & PUNAM LALA	1	5000
32	A E KALSEKAR EDU WELFARE TRUST	1	5000
33	A E KALSEKAR EDU WELFARE TRUST	1	15000
34	Student Aid Fund Scholarship	15000*29	435000
35	VIVEKANAND JYOTI SCHOLARSHIP	25000*5	125000
36	SAMARTHAN (VES)	3*15000	45000
37	SAMARTHAN (VES)	1	20000
38	SAMARTHAN (VES)	2*30000	60000
39	SAMARTHAN (VES)	1	50000
40	SAMARTHAN (VES) TOTAL	1	60414 2159482

NOTES : - INCLUDING ALL DEPTS



VES Institute of Technology Scholarship (Non Govt) 1-April-2021 to 31-March-2022 MCA STUDENTS

SR NO	STUDENT NAME	CLASS / DEPT	TRUST NAME	AMOUNT in Rs.
1	SIDDHI THAKUR	MCA	PARPATIBAI EDANMAL DASWANI CH TR -	10000
2	SIDDHI THAKUR	MCA	VES EDU. FUND	15000
3	ROSHNI YADAV	MCA	VES EDU. FUND	15000
4	ANJALI RANAVARE	MCA	SHRI VENKTESHWAR NIDHI TRUST	31000
5	DISHA KISHIN KHUSHALANI	MCA	PARPATIBAI EDANMAL DASWANI CH TR -	7500
6	DISHA KISHIN KHUSHALANI	MCA	BHARTIYA SINDHU SABHA	15000
7	Saurav Lovkesh Mishra	MCA	VES SAMARTHAN	45000
8	Aniket Adik Yadav	MCA	VES SAMARTHAN	45000
9	Siddhi Harendrakumar Thakur	MCA	VES SAMARTHAN	53961
10	Vidya Surbhi	MCA	Student Aid Fund Scholarship	15000
11	Bovalekar Rupesh Rajan	MCA	Student Aid Fund Scholarship	15000
12	Dikonda Pratik Mahendra	MCA	Student Aid Fund Scholarship	15000
13	BARANWAL ROHIT RAMASHANKAR	MCA	VIVEKANAND JYOTI SCHOLARSHIP	25000
	TOTAL			



VES Institute of Technology Scholarship (Non Govt) - 1-April-2021 to 31-March-2022 MCA STUDENTS

SR NO	TRUST NAME	NO. of Students	AMOUNT in Rs.
1	BHARTIYA SINDHU SABHA - MCA	1	15000
2	PARPATIBAI EDANMAL DASWANI CH TR - MCA	1	7500
3	PARPATIBAI EDANMAL DASWANI CH TR - MCA	1	10000
4	SHRI VENKTESHWAR NIDHI TRUST - MCA	1	31000
5	VES EDU. FUND - MCA	2*15000	30000
6	VES SAMARTHAN - MCA	2*45000	90000
7	VES SAMARTHAN - MCA	1	53961
8	VIVEKANAND JYOTI SCHOLARSHIP - MCA	1	25000
9	Student Aid Fund Scholarship - MCA	3*15000	45000
TOTAL			307461

